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H14

H21

1,450

L=1,270m
W=6.0 11.5 m

74.4

2.74

84
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H15

H25

6,924

L=13,000
W=6.0(9.0)m

57.2

221

77

H9

H24

9,553

L=1,950
W=13.0(24.0)m

68.3

431

75




18

H12

H21

300

L=570m
W=6.5 12.0 m

38.3

135

83
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L=1,060

H3 H20 550 W=6.0(11.5)m 785 090 | 72
L=3,355
H8 H25 3,850 W=13.0(30.0)m 821 286 | 67
L=1,147
H6 H25 2,070 W=6.0(16.0)m 65.5 111 66
L=561
H15 | H25 1,339 W=6.5(145)m 31 102 | 64
H29 L=4,450
H5 3,282 W=6.0(115)m 62.5 116 | 64
L=800
H12 | H23 300 W=6.0(9.0)m 22.3 112 63
() ]
L=614
H13 | H24 575 W=6.0(11.5)m 318 108 62
L=860
H13 | H25 550 W=6.0(9.0)m 4.7 118 62
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9 H12 | H24 550 Wed oo 174 116| 62 | 9
10 Ha | H22 780 Wb 060 88.6 056 | 61 | 10
11 H11 | H22 208 . 255 115| 61 | 11
12 His | H29 | 2100 V6060 111 119| 58 | 12
13 H12 | H23 350 Wbo(130)m 306 103| 54 | 13
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H13

H20

300

L=613
W=6.0(11.5)m

26.8

2.16

86
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H15 | H25 800 V65165 143 169 | 68
Hi4 | H23 350 W6.01200)m 326 107 | 67
Hie | H29 | 3000 Vo820 7.2 230| 67
H15 | H24 550 V6030 109 132| 64
H12 | H24 680 6060 237 109 | 64
Hi4 | H26 850 W6 523.0)m 111 111 62
H11 | H25 850 Vs 5o 208 131 61
H12 | H23 380 Wb0(10.0)m 500 110| 60
H13 | H23 374 Wese o 213 190 | 60
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10 H12 | H24 | 1,306 V6060 716 101| 60 | 10
1 () Hio | H2 | 3730 . 76 124| 60 | 11
12 Hia | H3 303 WB0(LLE)M 238 161| 60 | 12
13 H10 | H23 311 . 132 112| 60 | 13
14 H11 | H23 480 V6001 5)m 244 114| 60 | 14
15 H10 | H2s 900 Wesom 5.7 171| 60 | 15
16 Hi1 | H2s 840 V60015 160 110| 60 | 16
17 Hiz | P29 | 1950 V60025 186 104| 56 | 17
18 Hig | H2 670 W50ULL 5 200 140| 56 | 18




18

19 Hia | H22 | 1,400 V60015 56.9 103| 56 | 19
20 Hi4 | H23 280 Wb0(16.0)m 29 187| 54 | 20
21 H13 | H24 500 V0105 40 175| 53 | 21
22 H10 | H26 900 W606.0m 26 108| 51 | 22
23 Hi4 | H23 210 . 110 121| 51 | 23
24 H13 | H23 360 W60(10.0)m 14 134| 51 | 24
25 Ho | H25 700 V60015 203 158 | 49 | 25
26 H12 | H24 458 V60160 46 157| 48 | 26
27 His | A2 1 1030 \|7v::15’.3§2$.0)m 129 104| 48 | 27

10




18

« )
28 H13 | H23 230 . 22 112| 48 | 28
29 Ho | H22 576 V65120 948 135 47 | 29
30 H7 | H24 502 W6 0020 38.2 102| 47 | 30
31 H12 | H24 600 Wed oo 170 115 47 | 31
32 13| 23 500 WEB0(LLE)M 28 | 189 | a7 | 32
33 7| 22 340 A, 535 | 109 | 45 | 33
34 12| 23 240 . 25 | 107 | 44 | 34
35 13| 2 111 V60025 09 | 148 | 43 | 35

11
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Hi1l | H24 | 1800 V6820 214 150 | 73
Hia | H26 | 5700 V60015 115 127 72
Hi5 | H22 | 1,200 V55120 483 356 | 71
Hi3 | H23 | 1538 W6 o5 151 223| 7
H12 | H24 500 V60100 192 120 | 64
Hi1 | H24 | 1,200 V65120 208 283 | 69
Hi2 | H22 900 6060 7 184 | 69
Hi2 | H23 | 9208 W01 5 37.0 140 | 68

12




18

9 He | H22 707 W6 060 646 105| 68 | 9
10 Hs | H26 | 4200 W60(25)m 505 073| 67 | 10
1 HL4 | H22 800 V65130 36.7 274| 67 | 11
12 Hia | H23 | 1,219 W6 512 0)m 509 219| 67 | 12
13 Hi1 | H23 | 1,310 V650120 252 107| 66 | 13
14 Hi1 | H25 | 4622 Wt30245)m 751 111| 66 | 14
15 Hi1 | H23 | 1000 V60015 250 130| 64 | 15
16 H11 | H22 450 . 147 286| 63 | 16

13
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279

H14

H21

2,850

L=640m

38.0

100

14




18

104 s | ot soo| _, . Le100om 6 % 98
104 R 300 :2.5mL:1,150m 34 Y% 98
104 w7 | o 250 :2.5mL:810m 39 9% 98
- H17 | H20 220 :1O.Oan:250mW:2.5m 65 »
454 v | bt 400 :11,5an:500mw:2-5m 31 % 98
Hi5 | H23 | 1,500 g o-ieim 45 % 98
R 1370 :2.5mL:1,100m 52 % 98
117 | hoo 520 :2.5mL:1,150m 3B Y% 98
P 150 :2.5mL:240m 67 % 98

15
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10 H7 | H20 21| oo 31 % %8| 10
L=266m :
11 H10 | H20 343 g we25m) 62 % 08| 11
12 H15 | H20 840 o0 79 % %8| 12
13 H17 | H20 60[ o 86 % 9| 13
14 H18 | H20 100 L _seoo0m 50 % % | 14
338 _
15 H18 | H22 a00[ P00 25 % 4| 15
16 H18 | H2L 150 pom 21 % 04| 16
17 H18 | H1 00| g 0" 27 % oa| 17

16
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L=800m

18 H14 | H21 600 _, 23 % oa| 18
19 H18 | H20 130 T 46 % oa| 19
102 _
20 H18 | H21 200 g T OOT 13 % 92| 20
21 H17 | H20 180 o 39 % 02| 21
22 H17 | Ho 10| e T 59 % 92| 2
23 H18 | H21 600 g T 23 % 92| 23
24 H18 | H20 220 0" 3% % 92| 24
25 HI7 | W23 | 1paa| OO 25 % 90| 25

17
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338

26 H11 | H21 280| o o o000M 21 % 88| 26
=8.0m
103 _

21 H18 | H1 a0 MO0 17 % 86| 27

18
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H18

H20

620

400

52

%

72

19
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H18

H20

665

N=1

125

85

20
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280

H17 | H20 350 L=3.200m 35.7 97
280

H17 | H20 400 L=2.800m 21.5 97
338

H18 | H20 340 L=2.400m 235 93
280

H17 | H21 800 L=440m 125 93
339

H16 | H21 1,600 L=1.933m 10.3 92

21
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H18

H20

300

L=2,800m

113

93

H16

H20

300

L=2,900m

410

92

22
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L=180m

H18 | H20 220 L=340 55 % 93
L=280m

H16 | H20 404 L=560m 80 % 89
L=1,300m

H17 | H20 650 L=1300 56 % 89

23
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H15 | H21 900 L=3.052m 54.0 % 93
H14 | H20 842 L=2200m 76.2 % 84
H14 | H21 950 L=620m 735 % 79
H15 | H21 725 L=1.800m 51.0 % 79

24




